c 4. ABCD is square and CDE is an
equilateral triangle outside the
square. What is the value (in

. degrees) of ZBEC?
\&D ABCD T& T § dUT CDE gt
D : c ¥ AT UF waag e 3
/BEC & &AW (R #) &
2
i 15 b) 30
c) 25 d) 10
A ' B
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7. In  the following figure,
B C ABCD is a square and AOD
150 \:g is an equilateral triangle.

15 9 Find angle BOC.

T £l + %1 3@ & ABCD TH et

§ 3R AoD vw wHeg TS
N 3| FoT BOC FT AT aelz|

A00 €0 N, a)75°  b)120°
ve’)/ 150°  d) can’t say




4. In the given figure. If AD = CD =
BC and £BCE = 96°,then 2DBC(C is
ar w1 ImFfa &, af AD = CD =
Bc 3R sBCE=96° ¥ a

9 ¢4DBC =
h a) 32° b) 84°
64° d) Cannot be determined

|CAT 2003 | 3



9.In the figure given below,
y AB is parallel to CD.
£ABC = 65°, .CDE = 15°
and AB = AE. What is the
25 value of LAEF? ’
AT & a5 3mRfa #, AB,
65 X\ 80 ¢
c O ¥ wARR ¢
H & £ABC = 65°, £CDE =
15° 3R AB = AE§| 2AEF
=7

D a) 30° ﬂ?

c) 40° d) 45°

| CDS 201211 |



le. A, B and C are three points
on a circle such that the
angles subtended by the
chords AB and AC at the
center are 90° and 110°
respectively. ZBAC =? ~—
et g ov fdg AB T C
ga'W$Ri%ﬁ5:ﬁarABii
AC TART &g W o
aﬂw HHAR 90° 3T 110°

§ LBAC =
a) 70 \;h‘ﬂ;o
c) 90 d)100




il. In the given figure, P
is the centre of the
circle. If QS= PR, then
what is the ratio of
£RSP to the 4TPR?
& 1§ ImHfa A, p
ga & Fg 8 AR
QS = PR &, @ ZRSP
1 <« TPR & T

37T 87
a) 1:4 b) 2:5
A1:3 d) 2:7

| SSC CGL T2, 20 Feb 2018 |



12.AB is a chord of a circle with
center O and DOC is a line
segment originating from point D
on the circle and intersecting AB
produced at C such that BC=0D.
If £ BCD = 20°, then LAOD =?
Fg g0 ara vw ga @ s
AB & 3R poc w# @r §
ff a0 W Rya & fag D
3cYel Bl § aUT 99 g%
AB FY fig C W Free §
2 BCD =20° & @ <AOD
60 b) 80
c) 90 d) 70

& 9

‘afa

?

| /



/3- In a triangle ABC, £A is equal to
120°. There is a point D inside
the triangle such that £ZDBC =
2£ABD and 2DCB = 2£ACD.
What is the measure of ZBD(C?
faersr ABC #, 24 =120° B
el & 3eX T g D W
yaR ¥ fF .DBC=2,4BD
ik sbcB=2:4cD @

£BDC 9aT |
_Ara0° b) 150°
c) 90° d) 138°




%, In triangle DEF shown

D below, points A, B and C are

/,g,@ﬁ/\j}o/ﬂok—lgo 12 b taken on DE,DF and EF
respectively such that

EC = AC and CF = BC.

= A0+b-1€ 0 Angle D = 40°, then what
= QQuo)_|go =|0D is angle ACB in degrees?
Gboiu T4 e T e e
A, =3t DE,DF 3 EF
04 E TP
tb=\Y0 90-2 -2 TR ol
y & Wb Pl acak CF; BC#|
0 -3 ®OT D=40° ¢ HOT
. Qq*%) ACB 9aT &1
bl 60‘ L/ a) 140 b) 70
2?0" 90 J’mo d) none of these




/§« In a A ABC, point P,Q and R are
taken on AB, BC and CA,
respectively, such that BQ =
PQ and QC =QR. If 2BAC =
75°, what is the measure of
£PQR (in degrees) ?

AMBC F fig p@ 3R R
$HAA: AB,BC X CA W 39
. geR faw av & & BQ =
Y ] ' PQ 3k Qc=0QRrR % 3fe
i C /ABAC%;QZ? g, H;APQR T

AT H) Fa1 87
0~ 80 +gy | 300-(eb) ) 40( \_,k%/so

= A04b) 439 [0~ Qip=iso 50 d) 75

| SSCCGLT1, 11 Apr 2022 S1 10



[¢. In AABC, D is a point on BC
such that £BAD =3 £ADC,

ZBAC = 87° and 2«C = 42°,
what is the measure of ZADB?
AABCH, D, BC I T&h ﬁg T

S& fF .sBAD = EAADC,
/BAC = 87° Q9T +C = 42°,
£ADB &1 ATT F4T §?

a)94°  b)68°

)102°  gf78°

|cHsLaos | 1



[7.In a AABD, BC is a
angle bisector such that

A
26 /\ AB=BC=CD and
_ 20 AD = BD.FindZADB.

S "g%/ AMBD #H BC T&H
C FoGRNEE 59
UeR & & AB-=
) BC=cCD 3R 4D =

£>56 SN\ BD | ADB = 2.

B D

a) 18° b) 72°
A36° d) 24°

E— S



(2-The angles of a triangle are in

° _ s 4 e Arithmetic Progression. The
_bo~ - 1=180" ratio of the least angle in
) ’ 3 degrees to the number of
2,0 radlans in the greatest angle is
|0~ - 4 ). 60 i. The angles in degrees are
7 middfe= I’;jg = ST & FIOT FATR
. A # ¥ ged o PR
1.2%3—30,6020 #) 3R weR ¥ WA
g)'UTW m%ﬁ 60:pi g o=r

qdr S|

! ; a) 40°, 50°, 90°

@= €o b) 40°, 55°, 85°

190 3 4130°, 60°, 90°

\:3 <30 d) 35°, 55°, 90°

7 90

_ | CGL2012T-2 | 13



(9, If a, b and c are the sides of a triangle and
a’+ b*+ ¢*= bc + ca + @, then
the triangle is
afE a, b IR ¢ vF B i e §
IR a’+ b%+ 2 —bc+ca+ab,
G=b=¢c o @ fea Fer & ?
/ﬁaquilateral

b) isosceles

c) right angled

d) obtuse angled

L -H<}+-S

C %o\bc 0+b+c ) @\_M

0"—\)%




20- In the figure, a star is
shown. What is the
sum of the angles A,
B,C,D and E?

m # UH dnT §,
FIT A, B,C,D IR E &
AT &1 AT FqT
grm?
a) 120°

80°
c) 240°
d) Can’t be determined
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21. ABCD is a quadrilateral
such that BC = BA and
CD > AD. Which one of
the following is correct?

ABCD T IJ 39
YR § 7 BC=BA 3R
CD>AD ¢ R & @
FIAAT TET 82
a) .BAD = +BCD
b) £BAD < £BCD

& 2BAD > /BCD
d) 2.BAD = +BCD

| CDS 2013 11 | 17



22-In right triangle ABC,
£LABC = 90°, AX =
AD and CY =CD, as
shown in the figure
below. What is the
measure of LXDY?
& e 4BC F
£LABC =90°, AX =
AD3R cy=cD %
g yerR @

mpfa & fwman
AT §| 2XDY =?
a) 30° 45°

c)60° 'd)50°

| | 18



22- In the figure, PQR is a non-
isosceles right angled triangle
right angled at Q. If LM and
QT are parallel and QT=PT
then what is ZRLM equal to?

mpfa A, PR TH IR-

QT =PT & @ «RLM &1
AT 9dTST.

a) LPQT 6 2LRM

¢) .RML d) 2QPT

19
CDS 05 Feb 2017



B ,(u@

24 In the triangle ABC,
BC=CD and (4ABC —
£LBAC) = 40°. The
measure of ZABD is:
AABC & BC =cD 3R
(£ABC — £BAC) =

120-20.40° & @Y 2ABD =?
a) 30°
A5 20°

c) 15°
d) Can’t be determined

\go-éam)
~ Mo-ag

| | 20



2%. In the figure shown, PQR

Y is an isosceles triangle
180 -Ab-2C¢ 180-2 with PQ = PR, S is a
- (So—lb point on QR such that

PS = PT, Also, £QPS =
30°. Find £RST

UF FHASSS P 0
yHR § & PQ = PR ¥
fag s 8T QR W W

[S0-2b=1KD-2a

Q ’ yeR A & & PS =
K= b¢ S -}’) PT | 319X 2QPS = 30°
T30 g a ZRST=?
a)10° ) 15°
c) 20° d) 18°

| | 21



20 = ? . 2¢. In APQR, S is a point on the
P18 ,psk-= LQPS*""Q (1o) Side QR such that LQPs =

/] [£xt. Awngte] 1 LPSR, QPR =78 and
o 2/PRS = 44°. What is the

£PaR : ‘zz -gg -H/m) measure of LPSQ ?
L PQR #, s tF fag 8, S
q S RYY /PsR=2xSB=ll6 ¥ QR T §H YN Terd
% & .0QPS ——LPSR ,
. £Psg = 80116 LQPR = 78°TPRS = 44° §|

=64 £PSQ &Y AT FIT 2
a) 68° b) 56°
)58  _df64°

| SSC CGL T2, 29 Jan 2022 | 22



27.In APQR,PQ = PR and §

P oy £ PQR= £LPRY LW Lo Qﬂm"”u-) is a point on QR such that
i [ Py LPSQ = 96° + LQPS
o and ~QPR = 132°. What
|80—1%2 _ 24 is the measure of ~PSR?
NS Yy & B APQR &, PQ = PR 33X
R S WT QR W 39 U&R
/5 In & P8s, fya w=s ﬁ'g T
646 aurerbrac- o T Lorn = 13 b
= 9= 180-120= 6o £PSR &T AIY Id130|
. a)45°  b)56°
= B-= 320 540 d) 52°
LPsR = a4t30 [t L]

= 5Y

23
| SSC CGL T2, 03 Feb 2022 |




99. In AABC,BD 1 AC at D.E
£ bOA= |80’[°'0+%j @is a point on BC such that

» " /BEA = x°. If LEAC = 46°
and ZEBD = 60°, then the

o 4R £Boes LAz ["Wt““"?i’ value of x is:
< - AABC #H, D WX BD 1
7 %WAC%I BC W TF RigE 30
B ¢ C YR § & LBEA=x" &
afe LEAC=46° 3R
%= IRD- (GO_MD <£EBD =60° §, @ x &I

I AT AT I

a) 72° b)/78°
c) 68° 76 °
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